>Pnl (950 bp)
CTGCGGAGGATCATTACCACACCTAAAAAACTTTCCACGTGAACCGTTTCAACCCAATAGTTGGGGGTCT
TATTTGGCGGCGGCTGCTGGCTTAATTGTTGGCGGCTGCTGCTGAGTGAGCCCTATCAAAAAANAAGGCGA
ACGTTTGGGCTTCGGCCTGATTTATTAGTCTTTTTTTCTTTTAAACCCATTCCTTAATACTGAATATACT
GGGGGGACAAAAGTCTCTGCTTTTAACTAGATAGCAACTTTCACCAGTGGATGTCTAGGCTCCCACATCG
ATAAAAAACGCTGCGAACTGCGATACGTAATGCGAATTGCAGGATTCAGTGAGTCATCGAAATTTTGAAC
GCATATTGCACTTCCGGGTTAGTCCTGGAAGTATGCCTGTATCAGTGTCCGTACATTAAACTTGACTTTC
TTCCTTCCCTGTAGTCGGGGGAGGAAATGTCAAATGTGAAGTGTCTTGCGATTGGTCTTCGGACCGGCTG
CGAGTCCTTTTAAATGTACTAAACTGAACTTCTCTTTGCTCGAAAAGTGGTGGCGTTGCTGGTTGTGAAG
GCTGCTATTGTGGCAAATTGGCGACTGGTTTGTCTGCTGCGGCGTTAATGGAAAAGTGTTCGATTCGTGG
TATGGTTGGCTTCGGCTGAACAATGCACTTATTGGACGTTTTTCCTGCTGTGGCGGGATGGACTGGGGAA
CCATAACTCGGTGGCTTGGCTTTTGAATTGGCTTTGCTGTTGCGAAAAAAGGGGGCAGCTTCGGTTGTCA
AGGTCGATCCATTTGGGAACTTAATGGGTACTTCGGATGCATCTCAATTGGACCTGAATATCAGGCAAAA
ATTACCCCCTGAACTTAAGCATATCAAAA



